MAT2500-02 08S Quiz3  Print Name (Last, First) |
Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and
use arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers EXACT (but give decimal approximations for interpretation). Indicate where
technology is used and what type (Maple, GC).

. .o . .
Given the vector-valued function r (1) ={t, tz, £ ) for its natural domain - 0 < t <oo:

a) Evaluate ?’(t), s (1), |—;' ()], T(¢) and remember to simplify your results (no credit for uniden}iﬁed
expressions).

b) Evaluate 7 (1),
expressions).

c) Evaluate the exact angle 0 in radians between 7 '(1) and 7"( 1) and a single decimal place approximation in
degrees.

d) Evaluate the vector a @ which is the vector pI'O_]eCthI'l of 7 "(1) orthogonal to rs (1). N
e) Optional: Make a suggestive hand diagram illustrating the various vectors derived above at r (1).

ﬁ
_r)'( 1), s (1), T(1) and remember to simplify your results (no credit for unidentified

» solution

Q)F =<+.\tz|'t3> A 9 >4, 342D
—i_ 2 = Tgra | T =lls <h2h ,
r~<*\2’°3’°7jrl =4 %) I ey

*—)u <O 2 Q‘(:7

by | Ty = 4\-.,\,1>W - y
Tl(i)__._. < 1,237 5 \("(J)\l= m: m d) Continued 1
?"(Q = <0’2) 6 Y374 (—l:) ”(I71 = T"" ) "‘Y.r"ll\] n
Toy= w2d> ' = <0, 2:6>— <P BE
\(T‘T_J =<—“I’lt;27_’43‘:733>
— = — _ 9
<) r“(tl): <OV2167 = 2 <0)‘)3> < ‘l-—l7 ) % 5 >

= -:_‘-_I- <"“n)-%) 9> :q

S i
P = <003 <0113

NIEE) V10 |
o I Tl = 21<0\ 1,30\ = 2010 26,32
G@s 6= 'T'(\\ 0y = <h23>- <03 Q)= X\2\+c4+5\ Q@ ~ 233
W4 \lT-O (\(1)
=+ - L - W Ractuing the N
{27{1s llaVlo  alzs lengths Gvelabve argle

e= chcaj(mm) =~ 21.¢ iagram
maple T

d) 'Fu W= <0,26> /E) %(‘)
u = < 3> {62, 6V= 0+4ti18. 22
¢ 40 dotis n 3D ana

o " =8 AP = T Ay =4 Dieane, soue sk
\'e (I\rﬁ U ()> Q‘—(‘\ \rA‘ \4 k $ ‘ mﬂ%%ed\agmM|nW\D\OM

Q\Ms’r{\) - GII(D] " * r/ and rll



